MATH 180A (Lecture AQQ)

Today: Random variables

Next: ASV 3.2

Week 3:
homework 2 (due Sunday, January 29)
Midterm 1 (Wednesday, February 1, lectures 1-8)

5 homework extension days per student per quarter
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Random variobles
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Probability  digteibution
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Probabi ity distribution
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Probability  distribution
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Probability  distribution

Toss a Fait coin § —imes. Let X=number of Hails

Xe {o 2.3, 4)

I

O

2

3

L!

Px(k): P (X=k)

B(K)

More 3emra.l\3 fF X=

Py (k)= P(X=

We call this dicveibution

1) -

then




Probability  distribution
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Disceete and continuous random variables
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Coumu loctive Disteibution Eunction
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Summarj: For ij random varable X, Fx (r) = P()(g()

(1) Monotone ‘mc(‘eo\sinﬂ:

(2) lim (=0 | i m

> -0 [yt

(3) p\‘\jhjr—conﬂnuous: lim

s¢et F)( (S) < F;((—E)

Fx((\ = |

F)( (*3 = F)(.((‘>

t- (¢

Discrete (andom Voriable
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